Pegel Weinahr
Ereignis 53, HQ < 1

25 25 N-Summe: 59,81 mm
Scheitelabfluss: 18,9 m3s
<
E Q Ereignisbeginn: 0,56 m3/s
§ Ereignisdauer: 45  std.
= Abflussbeiwert: 5 %
o
1)
g N-Dauer: 10  sStd.
2 max. N-intensitat: 21 mmh
mittl. N-intensitét: 598 mm/h
Verzdgerungszeit: 5 Std.
21.7.03 227.03  23.7.03 Vorfeuchte: niedrig
Wetterlage: 9

Niederschlagsverteilung

EZG Pegel Weindhr
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unter 9,20
9,2-13,8
153,5- 15,4
15,4 - 23,0
23,0- 27,6
27,6 - 32,2
32,2 - 36,8
36,5 - 41,4
41,4 - 46,0
46,0 - 50,6
ad,6 - 55,2
a5,2 - 59,8
29,5 - 64,4
64,4 - 69,0
69,0- 73,6
73,6-78,2
758,2-82,8
gz2,5- 87,4
g7s,4-9z,0
92,0 - 96,6
dber 96,60




